Name: ___________________________________________  Core: ________

Punnett Square Practice 
Try these Punnett Squares.  Fill in the Punnett square, then explain what the offspring would look like from these parents.  Include the percentages, genotype, and phenotype for the offspring.

1) Having detached earlobes (E) is dominant to attached earlobes (e).  If the two parents below have children, what could their children look like?

EE
x
ee
free earlobes
attached earlobes





Offspring:






Percentage
       Genotype

Phenotype






___________ % ____________ - are ______________

2) If the two parents below have children, what could their children look like?


Ee
x
ee

free earlobes
attached earlobes






Offspring:






Percentage
       Genotype

Phenotype






___________ % ____________ - are ______________






___________ % ____________ - are ______________

3) Dimples (D) is dominant to no dimples (d).  If the two parents below have children, what could their children look like?


Dd
     x
       Dd
        Dimples

   Dimples 





Offspring:






Percentage
       Genotype

Phenotype






___________ % ____________ - are ______________






___________ % ____________ - are ______________






___________ % ____________ - are ______________

4) If the two parents below have children, what could their children look like?


DD
x
dd

        Dimples 
      no dimples






Offspring:






Percentage
       Genotype

Phenotype






___________ % ____________ - are ______________

5) In pea plants, Tall (T) is dominant to short (t).  If the two plants below are crossed, what  could their “children” look like?

  
Tt
x
tt

Tall Pea Plant     Short Pea Plant






Offspring:






Percentage
       Genotype

Phenotype






___________ % ____________ - are ______________






___________ % ____________ - are ______________

6)  If two short pea plants are crossed, what could their “children” look like?


tt
     x
    tt        




  short plant             short plant  






Offspring:






Percentage
       Genotype

Phenotype






___________ % ____________ - are ______________

7)  Being able to roll your tongue (R) is dominant to not being able to roll your tongue (r).  If the two parents below have children, what could their children look like?

          Rr            x            Rr
tongue roller
        tongue roller
Offspring:






Percentage
       Genotype

Phenotype






___________ % ____________ - are ______________






___________ % ____________ - are ______________






___________ % ____________ - are ______________

